
Making Inferences and Predictions 

© 2013 Texas Education Agency / The University of Texas System 

Grades 6 – 12 



Cognitive Strategy Routine 





Use a Real-World Example (Step 1)  

• An anchor lesson is a real-world 
example used to create context for a 
cognitive strategy. 

• We refer to the anchor lesson to 
remind students of the cognitive 
strategy. 



Anchor Lesson for  
Making Inferences & Predictions 



Use a Real-World Example (Step 1) 

“Remember when we looked through 
the purse and used the clues in the 
purse and our background knowledge 
to figure out who owned the purse?” 

 
 
Record what you will say for Step 1 
on your orange Cognitive Strategy 
Routine Lesson Planning Card. 
 



Give the Strategy a Name (Step 2) 

“Today, we’re going to talk about a 
strategy called Making Inferences and 
Predictions.” 
Record what you will say 
for Step 2 on your orange 
Cognitive Strategy Routine 
Lesson Planning Card. 
 



Define the Strategy (Step 3) 
 
“An inference is when we combine our 
background knowledge along with 
information in the text to understand 
what the author is not telling us 
directly. An inference about future 
information is a prediction. When we 
make inferences, it helps us understand 
text more fully.”  



Define the Strategy (Step 3) 

Record what you will say for Step 3 on your orange 
Cognitive Strategy Routine Lesson Planning Card. 
 

An  inference 
is… 



Give Students Touchstones (Step 4) 

You may choose to provide students with 
a hand motion that signals “Making 
Inferences and Predictions.” 
 

Display strategy posters 
in the classroom. 
 



Give Students Touchstones (Step 4) 

Touchstones: Explain the strategy poster and 
refer to the anchor lesson. 

“When I make an inference, I will show you 
by pointing to the poster. Look at the 
detective on our poster. He is searching for 
clues in the text and using his background 
knowledge to make an inference. We made 
inferences when we tried to figure out to 
whom the purple purse belonged.” 



Give Students Touchstones (Step 4) 

 
 

     

Record what you will say for Step 4 on your orange 
Cognitive Strategy Routine Lesson Planning Card. 
 



Think-Aloud (Step 5) 

“A think-aloud is a way to provide instruction 
rather than just give instructions” (Daniels & 
Zemelman, 2004, p. 238). 
 

Students who struggle with reading “in 
general do not possess knowledge of 
strategies and often are not aware of when 
and how to apply the knowledge they do 
possess” (Duffy et al., 1987, p. 348).  

 



Cognitive Strategy Lesson Planning Card (Side 2)  
 

Step 5 is where we SHOW students 
how we use the strategy while reading.  

We plan a Comprehension Purpose 
Question (CPQ), as well as places to 
model thinking-aloud for students. 

Step 5 will differ with each lesson.  
We transfer the sticky notes from  
the planning card and place them  
on the text.    



Making Inferences Graphic Organizer 
Graphic organizers can help struggling students to focus 
“attention on the text while they read or help them 
organize the incoming information contained in the text” 
(Almasi, 2003, p. 92).  

This type of activity helps students to actively think about 
the text while they are reading. This particular organizer 
helps students to “explore a text by using text-explicit and 
text-implicit thinking processes… It is a child-centered 
strategy that allows the teacher to guide children both to 
the ideas in the text and to the processes involved in 
getting those ideas” (Searfoss & Readence, 1994, pp. 246-248).  
 



Use scaffolds to support 
student learning. 
 

Think-Aloud (Step 5) Handout 
3  
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CPQ: What do we 
learn about the 
woman coming 
into town? 



Their Eyes Were Watching God – pp. 1-3 
What do we learn about the woman coming into town? 

1 direct 

• She had come back from burying the 
dead… the sudden dead. 

2 

She was coming back 
from burying the dead - 
someone who died 
suddenly. 

 

inference 

• Remember the envy they had stored.  
• Swallowed with relish. 
• Burning statements… laughs. 
• The mood comes alive. 
• Coming back in dem overhalls? 
• Where’s that blue satin dress? 

They are remembering the envy, so it 
was in the past. When you relish 
something and the mood comes alive, it 
means you enjoy it. When people’s 
statements burn and they laugh at 
you, they are being mean. She’s 
dressed like she is poor. 

The townspeople used to 
be envious of her, but 
now they enjoyed seeing 
her fall on hard times. 

2 direct 

• What dat ole forty year ole ‘oman 
doin’… 

inference 

She’s 40 years old. 
 
 
 
 
 

2 

• What dat ole forty year ole ‘oman 
doin’ wid her hair swingin’ down her 
back lak some young gal? 

Most women in their 40s don’t wear their 
hair down (which means long) like 
young girls. The fact they are asking 
what she thinks she’s doing wearing her 
hair like that, tells me they think it’s not 
appropriate. 

Her hair is long and she’s 
wearing it down, which 
isn’t appropriate for an 
older woman. 
 
 

 
My Answers to the CPQ 

 



Your Turn! (Step 5) 

• Use the Think-Aloud sticky notes to record the 
first three statements you will stop to think-aloud 
for students. 

 

 
 



Engage Students (Step 6) 
 

Ask students to share their thinking.  Add 
statements to the graphic organizer and ask 
them to identify whether or not the statement is 
directly stated in the text or if they have to make 
an inference. 

 
   

Is this true?  Did the 
author tell us this 
directly or are we 

making an inference? 

   Handout  
 3 

 



 

    “Discussion plays a key role in supporting the development of 
students’ understanding of text. It is through the interaction – 
or the transaction – of ideas, language, and perspective that 
comprehension is developed” (Israel & Duffy, 2009, p. 523). 

 
 

   

Engage Students (Step 6) 



 

    Ask Think-Turn-Talk questions that require students 
to make inferences or predictions. 
 

   

Engage Students (Step 6) 

–  “How did Janie feel about her discovery   
     and why did she feel that way?” 
–  “Why is Nanny pushing so hard for  
     Janie to get married?” 
–  “What are you inferring now?” 
–  “What do you think might happen?” 

 



Scaffold Practice (Step 7) 

“Today, we are going to read a well-known poem 
called, Invictus. As you work to understand the poem, 
record the inferences you are making on sticky notes.  
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You will share your 
inferences with your 
group. Be prepared to 
explain why you think 
what you do.” 



Provide Accountability Measures (Step 8) 

“After reading the excerpt 
today, I would like you to write 
your response to the CPQ. In 
your writing, explain what you 
learned about the character and 
her motivations. Be sure to 
provide text evidence and 
background knowledge to 
support your thinking.” 



Hurston, Z. (1937). Their eyes were watching god. New York, NY: HarperCollins Publishers. 

Their Eyes Were Watching God, page 1



Their Eyes Were Watching God, page 2



Their Eyes Were Watching God, page 3



Making Inferences Graphic Organizer     Title: ___________________________________________________________________

   CPQ:  _______________________________________________________________________________________________

P. # My Answers to the CPQ 

Direct 
(Explicit) or 
Inference 
(Implicit)? 

Evidence 
(Text Clues) 

Background Knowledge 
(Connections to What I Know) 

Handout 7 



Making Inferences Graphic Organizer     Title: Their Eyes Were Watching God – pp. 1-3 
   CPQ: What do we learn about the woman coming into town?  

P. # My Answers to the CPQ 

Direct 
(Explicit) or 
Inference 
(Implicit)? 

Evidence 
(Text Clues) 

Background Knowledge 
(Connections to What I Know) 

1 

She was coming back 

from burying the dead - 

someone who died 

suddenly. 

direct 

 She had come back from burying

the dead … the sudden dead.

2 

The townspeople used to 

be envious of her but now 

they enjoyed seeing her 

fall on hard times. 

inference 

 Remember the envy

 Swallowed with relish

 Burning statements … laughs

 Coming back in dem overhalls?

 Where’s that blue satin dress?

 All dat money

They are remembering the envy so it 

was in the past. When you relish 

something and the mood comes alive 

that means you enjoy it.  When 

people’s statements burn and when 

they laugh at you, they are being 

mean. She’s dressed like she is poor. 

2 

She’s 40 years old. 

direct 
 What dat ole forty year ole ‘oman

doin’ …

2 

Her hair is long and 

she’s wearing it down 

which isn’t appropriate 

for an older woman. 

inference 

 What dat ole forty year ole ‘oman

doin’ wid her hair swingin’ down

her back like some young gal?

Most women in their 40s don’t wear 

their hair down (which means long) 

like young girls.  The fact that they 

are asking what she thinks she’s 

doing wearing her hair like, that tells 

me they think it’s not appropriate. 

Handout 3 



2 

She left the town to 

marry a poor, younger 

man, but that didn’t 

work out. 

inference 

 Where she left dat young lad of a

boy she went off here wid?

 Thought she was going to marry?

 What he done wid all her money?

 Why she don’t stay in her class?

It says that she left with a younger man 

and she thought she was going to marry 

him.  Now she is alone and it seems like 

her money is gone.  Class is like lower 

class and middle class. She didn’t stay 

in her class, which tells me he was poor 

compared to her. 

2 
She was higher class 

compared to the rest of 

the townspeople. 

inference 

 Remember the envy they had

stored

 Where’s that blue satin dress

 Where all dat money …

 Why she don’t stay in her class?

People are jealous of others when they 

have less than them.  It sounds like she 

had money and used to dress nice. Since 

they talk about her staying in her class, 

it makes me think she’s in a different 

class than all of them as well. 

2 

She must be beautiful. 

When she said hello, the 

men all got tongue-tied 

and all they could do 

was watch her. 

3 
The women in the town 

don’t think much of her. 

3 
Pheoby Watson is her 

best friend. 



Bellman, A., Bragg, S., Charles, R., Handlin, W., & Kennedy, D. (2004). Prentice Hall mathematics algebra 2. 

Upper Saddle River, NJ: Pearson Education, Inc. 

Math Text



Making Inferences Graphic Organizer           Title: __________________________________________________________________ 

                                                                               CPQ:  ________________________________________________________________________________________________ 
 

P. # My Answers to the CPQ 

Direct 
(Explicit) or 
Inference 
(Implicit)? 

Evidence 
(Text Clues) 

Background Knowledge 
(Connections to What I Know) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

     

     

• 0 s = 120 mm. 

• 60 s = 28 mm. 

• Water drains from its container 

(says in the problem). 

When water drains from something, the 

level decreases like when you drain a 

bathtub.  It takes time for something to 

drain. It doesn’t happen instantly. 

 

• 60 s = 28 mm. 

At the start of the second minute, there are 

only 28 mm left. My prediction of 39 

mm is higher that the level at the 1 

minute mark. It’s not possible for the 

container to refill itself because it is 

draining. My answer is unreasonable. 

 

Using Quadratic Models, Chapter 5, p. 236 

 

As time elapses, the water 

level decreases. 

 
inference 

b. The water level at 1 

minute is 28 mm, my 

prediction of 39 mm at 3 

minutes is unreasonable. 

 

 

inference 

What information from the table helps you to know  

 
your prediction for b. is reasonable? 

 

Handout 4 



Miller, K., & Levine, J. (2008). Prentice Hall biology. Boston, MA: Pearson Education, Inc. 

Handout 4

Science Text



Making Inferences Graphic Organizer     Title: __________________________________________________________________

   CPQ:  ________________________________________________________________________________________________

P. # My Answers to the CPQ 

Direct 
(Explicit) or 
Inference 
(Implicit)? 

Evidence 
(Text Clues) 

Background Knowledge 
(Connections to What I Know) 

 

 

• At the top of the chart is a

grandfather …

• The grandfather must be

heterozygous for the trait.

• Square represents male; circle female.

• Shaded…expresses the trait; not shaded

does not express trait.

• Horizontal line reps marriage.

• Vertical line reps children.

Both parents have the 

heterozygous genotype 

for the white forelock. 

• Circle (mom) and square (dad) are

shaded.

• The grandfather of the male has the

trait.

• They are linked to two circles

(children).

• Only one circle is shaded.

Dad must be heterozygous, because only 

one of his parents has the trait and he 

has the trait. We don’t’ know about 

mom’s parents, but since only one of 

their kids has the trait, mom has to be 

heterozygous. If she was homozygous, 

then both kids would have the trait. 

Pedigree Charts, Chapter 14, p. 342 

What are the genotypes of both parents on the left in 
the second row? How do you know?

Te
xt

 

At the top of the chart is a 

grandfather. 

Grandfather has the 

heterozygous trait. 
   direct 

Fi
gu

re
 1

4
-3

 

Square represents a male; 

circle a female. Shaded 

shape indicates the trait.  

Horizontal line = 

marriage. Vertical line = 

children. 

   direct 

Fi
gu

re
 1

4
-3

 

inference 

Handout 5 
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